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A group of young designers create a compact device based on GPS technology. Included in the equipment of the aircraft, the device can determine its location and flight level. With digital radio connection of type air - ground, realized on a particular radio frequency, the device report every six seconds of the ground control center information for your location. Due to the large volume of information, the message is divided into two parts, which are transmitted one after another as separate messages - odd with code 17 and even with code 18. 

Odd message has the following structure:
- Message Code - 2 bytes (17);
- Aircraft Identification Code - 6 bytes;
- Latitude of the location - 7 bytes (Nggmmss). One degree of latitude corresponds to 112 km;
- Time of broadcast - 6 bytes (hhmmss);
- Oldest two digits of the flight level - 2 bytes.

Even message has the following structure:
- Message Code - 2 bytes (18);
- Aircraft Identification Code - 6 bytes;
- Longitude of the location - 7 bytes (Eggmmss). Assume that one degree of longitude is a constant value and location of Bulgaria corresponds to 88 km;
- Time of broadcast - 6 bytes (hhmmss);
- Junior two digits of the flight level - 2 bytes.

Broadcasting time recorded in odd and even part of a message is the same. The two parts of a message can be received in any order, but certainly after the reception of both parts of the previous message from the same aircraft. The message is ignored if not received both parts (odd and even) or if the code is different from 17 and 18. It is possible to miss the message. Spatial polyline connecting the points with coordinates (X-longitude, Y-latitude, Z-Flight Level in km.) and increasing time formed the flight path. Aircraft moves with constant speed in each segment of the trajectory. The device report the flight level in tens of meters. If the distance between two aircraft, measured at a given moment is less than 5 km, we say that they are in conflict (i.e. have violated safety standards).
Write a program named stca, which calculates and print the number of aircraft that have received valid messages, and the number of conflicts between them. 

Limitations:
1. Not more than 12 aircraft.
2. Duration of the flight - no more than twenty minutes (200 reports of aircraft).
Input:
Each line of standard input contains one message. A indication for end of stream of messages is a message with code 99.
Output:
The only line of standard output, which contain two integers - the number of aircraft served and the number of conflicts.
Example
Input:

17DLH112N41150014000012
18DLH112E21300014000060
17DLH112N42150014002412
18DLH112E22300014002460
17ROT417N43450014003012
17THY001N41300014003012
18ROT417E22300014003060
18THY001E23000014003060
17DLH112N42450014003612
17THY001N42300014003612
18DLH112E23000014003660
18THY001E23000014003660
17DLH112N43000014004212
17ROT417N43450014004212
17THY001N43300014004212
18DLH112E23150014004260
18ROT417E23000014004260
18THY001E23000014004260
17DLH112N43300014005412
17ROT417N43450014005412
18DLH112E23450014005460
18ROT417E23300014005460
17THY001N44300014010012
18THY001E23000014010060
17DLH112N44000014010612
18DLH112E23450014010660
17ROT417N43450014011212
18ROT417E24150014011260
17ROT417N43450014011812
18ROT417E24300014011860
17DLH112N45000014013012
18DLH112E22450014013060
99DLH112E22450014013060
Output:
3 1
